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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING — SEMESTER - 4 « EXAMINATION - WINTER 2017

Subject Code: 3340902 Date: 07-11-2017
Subject Name: Transmission and Distribution of Electrical Power.
Time: 02:30 pm to 05:00 pm Total Marks: 70
Instructions:
1.  Attempt all questions.
2.  Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6.  English version is authentic.
Answer any seven out of ten. £20HI2[l SIEURL ALctoll sl WU 14
1.  State any four advantages of overhead transmission system.
1. AAR$S alotHlatet e Mol SlEURL AR SLAEL QU
2.  Define sag and write sag equation.
2. Adle{l caltvul W Aol HI2a] Yo AL,
3. Name various methods of cable laying.
3. 3ud A8l Hizell [QlAu wruldulletl otlH AW
4. What is sub-station?
¥, AR 9 B?
5. Define bundled conductor.
Y. olsd ClLéSO‘ﬂ. cRULUAL WL,
6.  Define Proximity effect.
5. Us1El uuRell catvaul .
7. Write function of Lighting arrestor.
9. cuses(lor AR s12l Al
8. Write maximum allowable variation in voltage and frequency at consumer’s
end as per IE rule.
C. 5o10% 1R BSL UR WRHIR{lold ay Ui ay Al wal slsclorll AR et
IE 3¢ ool 32 8, A .Ul
9. What is function of gay wire?
¢. AR q sl 9 B2
10. What is interconnected system?
0. 8oesases Aleu AeA 9j?
€)) What for ACSR conductor stands? Why are conductors for transmission line 03
stranded?
()  ACSR of 3y oltd AVl 2letHlalel cllgol HIZ odS $05522 BM 03
cltuRell H ud 82
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Explain the effect of ice coating and wind pressure on sag.
W all USall wal Udclotall Adloll AL UR WU AU

What are the important properties that an over head line insulator must
possess?

ALBel BofA2R ofl Yuu Alle@ sl aglal.

State the reasons for failure of insulator.

BorJA2R oll FBCAUR oll 5100 %R

State the effect of system voltage and power factor on transmission line
efficiency.

e ARy Aol W ¥52 oll aletlatet gl ofl AHleUs2ll U
WUR LUl

Derive expression for voltage regulation and efficiency for short
transmission line.

e 2loHlalol ALt MR Al YAt A AW l2aol of YA AR,
State various type of HVDC system. Explain any one.
HVAC @2 H oll UsL2 Gull. 518 URl A5 ALl

33KV 3phase 3 wire transmission line having three disc insulator in string
voltage across disc nearest line is 11KV. Find string efficiency.

33 5l 3 33 3 claAR 2lortlalet cllgst Ui E[oL Ui 3 Sls BoryAe?
UAA 8. A8t ofl %5 ol S1xs ofl WslAatl Ay 19 3l B. A ot
A gl2ue2(l K.

Explain “Skin effect” in transmission line.
2lotHl2lol ClLEal HIZ Slot 8552 UM

Explain “Ferrienty effect” in transmission line.
glotHl2lot AULEel HIZ ¥R02| B35 UMM
Distinguish between feeder and distributor.

(352 wal Slaglodjer el dslald AVl

State the various methods to feed the distributor. Explain any one.
SlRdloyeR ol gls sRalloll (AlAu A Avll Ual Sleugl As ALl

Explain any two methods of increasing the string efficiency.
oL A gleateall caaedl sleunt A I AHestal.

Weight of conductor of transmission line is 1.8 kilogram per meter length.
Span of is 250 meters. Take maximum tensile strength of conductor is
3500kg.Calculate sag assuming factor of safety 2.

A5 2lotHl2lol Aol oll cllese] doet 1.¢ (5.911 Yl Hl2R B. clgetall

Aot U0 Hl B. clesoll HetlH 2UBAH e 3U00 (301l B. 3522
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Explain one type of FACT Controller.
SleURL A USIR oll FACT SoglclR AHsial.

Explain function of load dispatch centre.
AlS SlRUA AoeR of 121 ALl

List out the point to be considered for selection of cable size as per IS.
Explain any one.

IS Yool 6L ALBRB olssl sall HI2 Lallot Hi Aclloll Y&l wRUA ol
sleuRL As AHstal.

Draw the cross sectional view of SL cable and name its parts. Also state any
three advantages of SL cable.

SL 30lct oll als B ofl wugld (AU el olt ottt WA R Aal SL
S01C oll 2L SLAEL s

What is corona? Describe the factors affecting corona and corona loss.
S1Ratl g B2 SlRAell Aol SlRoll cu ol WUR sl UILHON A=A

What is distributed generation? Describe the issues of distributed generation
integrated to distribution grid.

BRRoes sRalet Aed 927 BRReY2uat Bls WA AssAc BRRoyes

%o1R9lol A AdLL Y&l arlal.

In a two wire 1200m long distributer ABC the load current at point C is
100Amp at 0.9 lagging pf and load current at point B is 80Amp at 0.8
lagging pf. Both pfs are referred to receiving end. If receiving end point C
voltage is 440V find (1)voltage at point B and A (2)Total current (3)sending
end pf. Loop impedance of section AB is 0.1+j0.2Q and of section BC
is0.2+j0.3Q.

A claAR 1200 MeR duoll (3202 ABC Hi C W ol Als 0.¢ Qd(lat
uleR 3522 3l 100 WEVAR el B WA ol AlS 0.¢ A2(1dL ulaR ¥522 A
¢0 AU B0l WaR ¥522 RR(DL As AR oll 2§ HL B, %\
RBR ot As C U oll A% ¥¥0 Alce 88 Al 1) A Aol B UR oll AU
) 5 522 3) Aol As WaR ¥s2R 2l vis AB oll U 8UsA
0.14j0.2Q &l WSBC oll ¢U 800SU 0.2+j0.3Q.

Give classification of substation.

UGt of clldls0L AU,
Draw the key diagram of 66kv/11kv distribution substation.

55 ¥cl/a a3l (SRRujalet Un 2l ol (5 stauoum €.
Explain the advantages of inter-connected grid type system.
822 sases (Ols e H of SlaAEL UM
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(d) Explain general construction of cable.
(S) 30l ol ULHLeRA UL AHALAL.
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